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T AT
GENERAL KNOWLEDGE

ot Formea T ;
Choose the corract answer | (10 x & = 20 3% Marks)
{, 7 2012 5 SiwAlrw T W e 7
Whera will tha 2012 Olympic Games be hald ?
{a) =piwMew York (o) et Londan
(e} AftmParis (d) 5 & = i None of thesa

8 e W s e e )
Wha finally finished the Chola Dynasty ?

(a) W, TFERMd Gaznav {b) =t M. Gauri
{c) =l w=puMalik Kafur {d) T & %nf i MNone of these

9, e T % T s e o e i 2
Non Co-aperation Movement was launched by Mahatma Gandhi in which year 7

{a) 1920 (b} 1919
{c) 1922 iy w=E T e whione of hesd
4. s T wm R
Which s the capital of Ausiralia 7
{a) Foest:Sydmey @m
(¢} i Tasmania T # W15 T/ None of these
5, o wk Srfiem i fom ¥ 7
Where is Green Park Stadiumddesllad %
(@) FFUKanpur thannal
[1:]_ o - ﬁs :lﬂlr,mm of these

g gqlggn-.-mhi‘l]mﬁﬁlﬁwwi
T ARbEI Meare Frize 1or 2UU/ Nas oeen awarded 10 |
@} e e Albert et {b) v it e s A AL Al Gore & IPCC
{6y =t AR D Lessing {d) = # 1% 7 None of these

7. Bre A 9 o o e wom ofafia | o 2
Which of the following creatures was the first to fravel in space 7

(2} FEVMouse ib} T Dog
(e} Fwsit Cat {d) ¥ 7 Wiz " None of these
B, w9 2008 T 347 G-8 7R W Ao i R T
In the year 2008 where was the 34th G-8 Summi heid ?
(a) = Wit South Korea (b w:China
[c) =mJapan (d) FErfirindonesia
6 wHFEzmTEm T LR wwm o E?
The Unranined Aerial Vehicle (UAV) developed by India & called :
(a) FErLidaan (b} P Mishant
) EitMalle (d) 79 & % =wiNone of these
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10. e faarit o sawmermn feedt awmn
Who among the following built the Ibadatkhana at Fatehpur Sikri ?

(a) s Aurangzeb (b} Tm=EL/Shahjahan
(o) =it Jahangic (d) e Akbar
i - |l
Part ~ Ii
it P
BIOLOGY
Tt P = - (15 x 2 = 30 3% Marks)

Choose the correct answer :
1. o= g e fm @ .
Lactosa is made up of which of the following 7
{a) Tewr wE FwEEAGIucose + Lactose (b) =Em vE v Glucese + Fructose
(c) opwre iR Glucose + Galactose () 39 # Wt 75T/None of these
12, =ifeew fagm fms fgm 7
Cell theory was put forward by
(@) FEmUSinger {b) TFmEANicolson
(e} == Watson {d) 7 # = iNone oltiede,_
13, "ot fEmrem foes o & femd gtm # 0
Duplication of chramasomes occur during which of the followinge
(a) s Mitosis (b) Tt nae s
(c) #2tfwm vy fiptfereMitosis and Meiosis (ol o5& B8 Nrna nf thegg
14, Wit o T arfien i o ot £ 7
How many amino acids are found in prolefs 7
(a} 20 ib) 9
e} 11 (d) 578 & %5 /None of thesa

15, afEs T s om v S Tm w0
loding Tes! i nasrlifiolamfaihiskh of (ha trdlruadneg .

(@) =l Fata b} wmiEEEZCarbohydrates
{c) WS REnS (d) T # =rd whiNone of these
16 T Siwatiefs a=n # 7
waar-Aoar is oroduced from which of the following 7
&) wi =g/ Green algas (b} = =H/Red algas
{c) o w5/Brown algas {d} 7 f = = /None of these
17, w=mmes s a7
Enzymes are made of ;
{a) =mterE=Carbohydrates {b) fafe Lipds
(c) WE/Proteins {d) ¥ % =% TEi/None of these
18, wretieim wfem ¥ feg fa w0 apmioey B b
Which of the following gases is absarbed during Phofosyrihesis 7
(a) STV ORYgen
(b) =r-En-sfws Carbon-dicxide
{c) e T - ST Both Oxygen & Carbon-dicxide
(d) = & =78 i None of these
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19, TEFERREETEE Wi o e et e w7
In the process of Glycloyss, Gluposa is convertad info which of the fallowing 7
{a) FEr/Fructose B} W srMalic Acid
(&) == Waler ()} iR e Pyruvic Acikd
20, T % e A e wa e £ 7
Hear of .o frog has how many chamiers 7
(a) TEOne B} & Two
{of W Thres {d} = Four
21, wernardt ofte foe festom g
Marmmals have avolvad from which of 1he kallowing
{a) siEwRepties i} Ty Amplibians
(c} wefrdFishes {d} 7 7 = 7T MNone of these
22w % = W W T L
The cafarmast layer of the skin & calied -
(8] =ihmDarmis () whmfirEpidermis
{c) = Cortax id) =EFFECicle
23, =g T T T v W e g g
¥Whera is the Bile sacreted by lver stored 7
(@) =yl ver (by == = Gal bladded - - -
o) TrrEyLungs (dy T NSRS dhthake
24 Fr= 9 @ frnd wniegis wed sfies a am d
Wihich of the foliowing containg rmaximum carbohyrirstear
g} =R Rice T Vit
(g} wikeal Y Nl W Mane o thsaas
25, W # uftaem % = fEE W
The circulation of blood was firslfiscTeacel by which scierist 7

{g) =i Canin (b} werHanwey
o] et Lamanck id) v | = Wi MNone of these
- 1)
Parl = Il
THTEA faam
CHEMISTRY
=7 o - (15 = 2 = 30 s Marks)

oose the commect answer :
26, o=y SEEmE WK, Cr, O, % mw stisfor w0 fim 7
Cin weidation of Ethyl aloohal with 1, Cr, O, whal will ba the product 7
{a)] winfEe st Acetic Acid (b wits seiFormic Ackd
(¢} weEETEE Formaldehyde () 7 % =5 WiNone of these
27, 7w HE (ACO),0 s i wm & ¢
Genearal formasa (RGO mepresants ;
{3l FEvketons (b} §erEstar
(c} ¥4 Ethane [y 7 W e AElbone of ihege
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o, T # | PeFes fm-m Ry
Which of tha following is an axplosive 7
(@) TNT (b} THNB
{c) =riBoth (dy v B =g fiNone of these
20, ot T S ¥ He w10 0 ST e A pH e ETm 2
If the H* concentration of any solution is increased by 10 times what is the affect on its pH 7
(a) wE @ @i Increases by one (by ww & =n/Decreases by one
(c) =i wmEme T/MNo change (d) =74 @ =f Tei/None of these
ap  Frer § & R vy Eggten SrAtET REw e E 2
Which of the following shows the maximurm hydrogen bonding ?
(a) HO (b) H._Se
{c) HS (d) H
a4 Tt ey T e # 2
Which ks the commecl gas equalion 7

AT Bl Pty Ty
@) vy Va ®) PV Ty
W, W
© Ty, v () T % i wNofie Of Wisse

92 s b wn we s 7

lsotonic solutions have same !
{a) wER TErEMolar concentration e LTS
() =mifEENormality b ¥ & =wnf =ET/None of these

93, st T me s T A et T ) e e & 7

The branch of chemistry which defils*Wwith reaction rates and reaction mechanism is called :
{a) Ty warEy Anahdice RCREMStry (b} TrEEEEE aEinChemical Kinetics
(g} S = TharmA GBI ) et B =i aeiNone of these

4 fefies niE P TEMR TS T E 7

hfinat i thil ~HamikSl name of FIerc aco ¢
() wng, METmEt feere, 4, 6 Trintro Phenol (b)) FmgrEremyTrinfirotoluene
WA g T Trinto Aniling {d) w9 @ = Awi/MNone of these

@mﬁmtr@n}mmwﬂhﬁﬂﬁmmmwﬁmmi?

The reagent used detect sugar (glucose) in urine s called :
{a} ZreaTollen's (h) #wh/Basyer's
() #dmBrady's (d) TEfF=m/Fehling's

36, T H | F- Pt 7

Which of the following is an insulator 7
(a} TrFErEGraphite {b) wEgfrFErm Aluminium
{c) ¥hDiameond (dy wE ¥ = wEiNone of these

97 e e e 7
Nylon-686 is made by using which of the lollowing 7

(a) FrAfE/Phencl (b) ufefrs ufEsAdipic Acid
(g} Wr/Benzene {d} T & % wiNone of these
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38, e 4 | W wEEmE §
Which of the following is an antiblolic?
(b) ufesErAsprin

{a) uiTERE Ampicilin
{c) =FrimCalmpose {d) i & =g =/None of these

90 wEH T AW mE-m 7

Which is the strongest acid among the following ?
{b) CH,CH,COOH

{a) GH,COOH
{c) CH,CICOOH {d) CH,CICH,COOH

40. Fe,0,# Fe =t sifissm wom =0 §
What is the oxidation No. of Fe in Fe,0, ?

la) +2 fb) +3
8 2
= (@ 3
T -
Part — IV
nftra
MATHEMATICS
et famre o -
Choose the correct answer : (10 x 2 = 20 37 Marks)
41, =R 5,326 TR W R 7
The characteristic of logarithm of 5.326 is
(a) 4 ity
il S W S FEMone of thesa

{e) O
45 Tt s AR 39 @ # i sk e 38 % arron F §, & el o o wm rh 2
The perimeler of a ractanala is 39 end IMfe m@tio of 1he lengins of two adiacent side is 5 : B, find the lengths

of two sides
{a) & B (b} 7.5 12
c) 8, 40 (d) 7o | = 781/ MNone of thase
43, cosec? AN + in®dS Rdbs® B0 W HM 7 BT
Wkt Dt Ol e WPEresaes A0 4 510 4 4 coge B0 7

o0 3@
4k e o) a9
(c) 'f‘ {dy ¥ & w5 =w/None of these

44, T i w0 weite dEe 616 o ¥, T e e w7
If the surface area of a sphere ks 616 oo, whal will be the diameter of the sphore?

8 Teom {b) 14 cm
() T & wr =i/MNone of these

{6 22 cm

45, TeTETE 51 - Tx + 2 W wer R 7
What are values of roots of the equation 5x® — T+ 27

2 1
(@) Tz {b) fi'_E
14 2 {d) v @ =15 T None of these

=5
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X"y

" _?5 o H

46, 7L Sx — 13y = 3x — By, M

“E""!I"E
If 5x — 13y = 3x — By, what is the valua of W (;

13 29
® 35 ®F 2
© :?T (d) i @ %rf =i/None of these

47, v feit e sivm # AB = AC 8 < BAC = 40" #1 £ ADC + 2 DAC ¥ 5T 1§17 7
In the diagram given below if AB = AC and < BAC = 407, what is tha valus of « ADC + £ DAC ?

A
/_.-"//‘/’
D C B
(a) B5° (b) 65° o
(c) 7O° (d) v & =S Nome'of these
48, FER 4, 9, 14, 19 TN MR- W24 BT
Which lerm of the sequence 4, 9, 14, 18, ........ . il ped2a7
{a) 24 B
{c) 25 'd) v & ®E TEi/None of thesa
49, ;. 0=, Sin 0 T FAEMZ
0 e TR o SIn B
J3
(@ 3 ) 5
{c) %‘ d)y ¥ # wrf =¥i/None of these
10 O
50, afk A =| 9 1 0| & A mumwdm?
a2 b =1
10 0
||A="3" T 01 then A7 will be ;
ab -1
(@) A (b) —A
(c) Mull {d) ¥ & =g =¥l/None of thesa
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